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library(MASS)
fitdistr(a,densfun = 'gamma')
hist(a,freq = F)
lines(dgamma(x=1:30,shape = 3.07,rate = 0.2559))
fitdistr(b,densfun = 'negative binomial')
hist(b,freq = F,breaks = 5)
lines(dnbinom(x=1:40,size = 7.982,mu = 25.57))

ks.test(b, "'pnbinom',size 7.982,mu = 25.57)
ks.test(a, 'pgamma’,shape 3.07,rate = 0.2559)

fitdistr(order,densfun = 'negative binomial')
ks.test(order, 'pnbinom',size = 5.141744 ,mu = 79.636364)
hist(order,freq = F)

Tines(dnbinom(x=1:200,size = 5.141744 ,mu = 79.636364))
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> ks.test(a, 'pgamma’,shape = 3.07,rate = 0.2559)
One-sample Kolmogorov-Smirnov test

data: a
D = 0.12391, p-value = 0.9754
alternative hypothesis: two-sided

> ks.test(b, 'pnbinom',size = 7.982,mu = 25.57)
One-sample Kolmogorov-Smirnov test
data: b

D = 0.14901, p-value = 0.915
alternative hypothesis: two-sided



> ks.test(order, "'pnbinom',size = 5.141744,mu = 79.636364)
One-sample Kolmogorov-Smirnov test

data: order
D = 0.13682, p-value = 0.8047
alternative hypothesis: two-sided
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for(i in 1:10000){
T=0
neworder=0
T=sum(rgamma(30,shape = 3.07,rate = 0.2559))
neworder=T/300*rnbinom(1l,size = 5.141744,mu = 79.636364)
if(neworder>30) {countl=countl+1}
if(neworder>60) {count2=count2+1}

b

pl=countl/10000

p2=count2/10000
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time.istarget <- function(order,targetcar){

#tERFTERBERRSEE; pRsEGEREERT &

t <0

p<-0

# ForER - ZE 21 £ distance

caridistance <- sqrt((order[1]-car$x)**2+(order[2]-carSy)**2)
# HirEF T EAEE

juli <- sqrt((order[1]-targetcar[1])**2+(order[2]-targetcar[2])**2)
# Fik I E DT 1kmE F

subcar <- car[car$distance<=1, |

# RAE Rta5thi g

ta <- rgamma(l,shape=3.07,rate=0.2559)

tbh <- rnbinom(1l,size=7.892,mu=25.57)

# AW A (A/B)

t <- ifelse(sum(subcar$type)==0,ta,th)
# AWM EMERSER ZITA
attach(subcar)

if(sum(target)==1 & targetcar[3]==0 & sum(type)==0 & juli==min(subcar[,5]))p=1
if(sum(target)==1 & targetcar[3]==1 & juli==min(subcar[type==1,5]))p=1

detach(subcar)
return(c(t,p))

#NAE, alik, Fx. yZFEL, typeFE XM (0Fa, 1z2b) , FATH & B by iR target

set.seed(123)

a=sqrt(53)

n=150

ppp=vector(length = 1400)

for (j in 1:1400) {
p=vector(length = j)

for (i in 1:j) {
x=runif(n,0,a)
y=runif(n,0,a)
target=rep(0,n)
target[sample(l:n,1)]1=1
type=rep(0,n)
type[sample(l:n,n/4,replace = F)]=1
car=data.frame(x,y,type, target)
rm(x,y,target, type)
targetcar=as.vector(as.matrix(car[car$target==1,1:3]))
gotten=0
T=0
while(gotten==0){
order=c(runif(1,0,a),runif(1,0,a))
res=time.istarget(order,targetcar)
T=T+res[1]
if(T>600) break
if(res[2]==1)gotten=1

}
pli]=ifelse(T>600,1,0)

}
ppp[j-1001=sum(p)/j
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ggplot(car,aes(xX=x,y=y

geom_point(aes(colour=type),size=2
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(1 SFAHHE, %5 Ridit KA, THEAEME AR R #-F-2) Ridit 1570, 95% Al {5
4iit & W E. Kruskal-Wallis 1656 /) p 18 ;

a=c(984,113,320,274)
b=c(143,53,250,90)
c=c(49,30,33,84)
d=c(16,20,18,4)
e=c(8,10,6,1)

data=as.matrix(data.frame(a,b,c,d,e))

ridit_test=function(x)

{
order.num=ncol(x)
treat.num=nrow(x)
rowsum=rowSums (x) #01i.
colsum=colSums(x) #0.1
total=sum(rowsum)
N=(colsum/2)[1:order.num]+c(@, (cumsum(colsum))[1:order.num-1])
ri=N/total
p_coni=x/outer(rowsum, rep(l order num), ") ##

pi.=rowsum/total #/% /41K

score=p_coni¥%*¥ri #7277
confi inter= matrlx(c(score 1/sqrt(3*rowsum) score+1/sqrt(3*rowsum)) byrow = F,ncol = 2)
if(length(rle(sort(ri))$lengths)==1length(ri)) #/7/%
{w=(12*total/(total+1l))*sum(rowsum*(score-0.5)"2)}
if(length(rle(sort(ri))$lengths)<=length(ri)) #7747
{
tao=rle(sort(ri))$lengths
T=1-sum(tao”3-tao)/(order.num*3-order.num)
w=(12*total/(total+1)*T)*sum(rowsum*(score-0.5)"2)
}

pvalue=pchisq(w,treat.num-1,lower.tail = F)

list(Score=score,confi_inter=confi_inter,W=w,Pvalue=pvalue)

ridit test(data)
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## $Score

it [,1]
# [1,] 0.4273790
## [2,] 0.6057912
## [3,] 0.5703263
# [4,] 0.5422558

H#HE
## $confi_inter
i [,1] [,2]

#H [1,] 9.4107123 0.4440456
#Ht [2,] ©.5673865 0.6441960
#Ht [3,] 0.5472691 0.5933834
#Ht [4,] ©.5151295 0.5693820
ixis

HE $W

#t [1] 153.1523

ixis

## $Pvalue

#t [1] 5.504452e-33

(2) ZHEER R K0 BLHYT Ridit 1370 BAF XA, HEBL - AL O .

result=ridit test(data)

graph=result$confi_inter

plot(@,0,ylim = c(8,1),x1im = c(1,4),xlab="JG[K",col="gray7",main="Ridit value confidence interval™)
abline(h=0.5)

for(i in 1:nrow(graph))

{
lines(c(i,i),graph[i,],lwd=2)
}
Ridit value confidence interval
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